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SBI Clerk Prelims 2022 (20th Nov) Shift-wise PYP Mock- 02

Directions (1-5):ﬁaﬁmaﬁmﬁmmﬁﬂﬁmwmwaﬁﬁqw:ﬁ%mwwﬁ%wﬁﬁm

AqTq ATE AT P, Q, R, S, T, U 3T W TF FATHIT A * Ta-RI oH 98 96 & 1o 37 a9 F7 & g il AT g
AT STERT el [ SEl F § 96 gil P 3T R % = a7 ATh 96 81 S, R I ATh X AST g1 S, P o 38 Ag!
JoTEI T, Q % ATE A TTEL TATT TXIST 1 W, T F I I2T g1 W, P 3 I A5l 997 2l

Q1. fRwrforfera # & it U F arff e fre s w31 /7

(@S
(b)R

©9Q
()W

(e)sﬂﬁﬁﬁlﬁ‘%ﬁ

Q2. Rmferfera o= i & & s ws fAfem ol & a6 § sie safere v a9 aa §| e 3 4 +im-

T 0 39 G9g 4 qaf9q Tl 57
(a) R-S

(b) Q-U

(c) S-P

(d) W-T

(e) P-W

Q3. RF TS A A F2q R SR U F = fraa safRe a3 2

(@u=®
(b) =T

(c) F=
(d) FE T&
(e) T T rfarw

Q4. I it A T<F IUHTAT HH § P & & Fd §T AMTAG (<91 & 95 8, AT Fovae safeat it Rufa saRafda
A 3? (P Fr &EEa)

(a) T

(b) FIE 7t

()&t

(d) i

(e) =TT
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Addal247/

GET IT ON
Google Play

Q5. Rufifaa # g f-aT Faw o 82
1S, U 3mas 93T g

IR, P T4 ¥ 919 ¥9 G 93T ¢
1. Q 3T T % 1= &l Al 927 §

(a) FaA I

(b) 11 i< I =11

(c) T I, 11 &< 11
(d) FaeT 11

(e) FT= HT HATE €

Directions (6-8): {1 {7 7T T34 7 § F FI T I A< & Aoy fRg 1w &)1 sy fw 1@ oy v
T HIAAT &, W &1 F AT [T a4 & 3 syt g ghl e+t At s afzg sk e ar fivg ™ fRw
T fAsHET & & H-a7 AohT G T1a T A TSRS Fd gC QT TT FAAT F7 qA160H €T & SITE0r

FLAT Bl

Q6. I :

A e 91E IS 8

HIS Hle IS A5l &

A

1. % 9, ZTeST 8T §

11 T 91€ st AT 213 A5l ol qohcl

(a) 7T Faer AR 11 a0 FaT g

(b) T2 e 1 & 11 T STTHL0T F3d &
(c) Tf= AT T Ao [ A7 11 SAqa0T FXaT 8
(d) 72 Faer ewe | AT FXaT

(e) Tt 7 a7 Few 1 T T 3¥ 11 SATaHLT FXaT

Q7.FI :
ol T I

FAA G TRATAST &
Feg, UIAT e T2

ALL EXAMS,
ONE SUBSCRIPTION.
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e

L. e AT T e

11 aY ufaT ark 8

(a) (< et Ao 11 e Fear g

(b) = e 1 & 11 T STTH0T 3 &

(c) Tf =T T AR [ 37 11 SIa0T FXar g

(d) T e AohT | SIqEo FdaT g

(e) AT T qr Aohd | T AT 11 ATHLT FaAT 5

Q8. I :

EEE I

FAA T TG T

el T HFE 1L &

e :

1. T goFa« IHIT 7al §
1FE HA I G

(a) 7T Faer AR 11 a0 FaT &

(b) =t R 1 & 11 TET S0 F:d &
(c) T I qT R 1 AT 11 STH0T FaT
(d) T2 Faer ewe | AT FAT |

(e) ofe T ar fowd | 3T T & 11 ATAL F2aT g

Q9. U= fAf3ra T & "WDQF" & "EXGR" % &7 H Fiearg AT SITaT 8 A "BGTY" &l "HCZU" ¥ €7 H Fed g

4T SITaT 8, A7 "QDFK" 91< ¥ forg Fhe T gieTn?
(a) FRLG
(b) ERGL
(c) ERLG
(d) GLER

(e)%ﬂﬁ@fﬁﬂﬁ

Directions (10-14): Reffera ST #T LA d® STeqa= iy S A= fag 17wt & sqe ffom)

U S § T ATHAT & ANT-T 9 AT MD, GM, DGM, AGM, Y4, PO 3fiT 0A (FTITAT Tg1TF) 2l
FIIAT FT FH dgl g ST ST (AT AT 8 AT MD HaH TS U7 g 3T OA T8 FH4E I5 B

F, E & 19 92 9¥g g «hd DGM & TS AE1 5| B & TS SATRAT il §&AT, D § g SARAT hl AT o THTH
2l C, B FAY g AR I AT TR g1 A, G H SF AR B
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Q10. G T C F &= forar =xfxr qifFa §7
(a)

(b) F1E T2

(c) T =

(d)=r

(e) U=

Q11. Fwfafaa # &+ DGM §?
(@G

(b) D

(c)A

(d)B

(e) TH | Fls gl

Q12. B & E ¥ &= yxifea =afedl i gear, 9y sieal ft gear F aae 8|
(@) A

(b)C

(0D

(dF

(e) ﬁ'ﬁf@fsﬁéﬁff

Q13. Mwferfera o= & & 91X U RfSra e & 99T § i 9o U a9g a9 8| Reacifea d a s sy

g ¥ G Taq Tl g7
(a)GM - B

(b) AGM - D
(c)MD- A

(d) &&= - C
(e)PO-E

Q14.3f% C, DGM ¥ T & § X F, MD & gsfara § ar St v E fRaforfea # & e gefaa &2
(a) AGM

OEEEED

(c) PO

(d) GM

(€) T & F7E T

Directions (15-16): S 1 ®, FAAT # AT Tl o 1= Gaier ITAT AT 1 FAF! 6 912 &F [y /g 1T
HEAEEUR Y
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Q15.
FU:
A<D<W=R;Y>H>D<K;M=V>H

LRzK
II. D<M

(a) ofe Faw AT [ a7 B

(b) Tt Faet AT [1 T
(FZarTar ARy [ AT TT B
GCRIESEIREERDE LG IRk
(e) TT= ohe [ 37 11 I qA B

Q16.

DYA:
AzF=H;]J<L=F;M=>B=z=L

LL<M
I:Hz]

(a) Tf= Faet A [ TeT g

(b) 7 Fae Mo [ TT 8

() FfTaTar AewRT [ AT FT B
GCRIES KRR E G IRk
(e) T FAohT [ 3% 11 T T 8

Directions (17-19): fF=ferfed ST 1 samgde steqa= Hiforg s = g gyt & s <o)

A Tfeat % tw ThRar H e aeeg 79T A, V, T,R, Q, W, X, YEI X, VAT T g 7T VFT [Aag AT g 21 Y,
W it freez-za-af g1 Q R & f4ar g1 R, T &t Irci/ATia+ g1 A, W il AT g1 V FT el Tk T ST THh AT 2
Y e g ot X & el

Q17.aRX T, LA uet g, A T, Y & ey Heifaa &2
(a) sr2

(b) =T

CELEIAIELD

(d) T

(e) Rt 7=t T ST Fehar
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Q18. X, Q ¥ fFer TR weitera &2
(a) faram

(b) T

() TRT-ZA-T

(d) <

(e) Rt 72t o s aefar

Q19.V, R & e yee d=feaa 872
(a) 5=

(b) ETEY/ATHY

(c) STET-34-T

(d) ET=T/ATAT

(e) et =t fora ST Jrshar

Directions (20-24): Rafrfera smaart #7 sarmmga® sterae Hforg i = faw 1w vt F s it

TH AN & FHETAC TRAAT H 9 & O | T GIh | 979 AN =6 TR 55 & o6 e AT 1 o oo A
T EI dRA-1 " P, Q, R, S 3T T &% ¢ I 39 THT T {E (0T sl AL gl A, B, C, D 3T E 4f<h-2 H 95 & 3%
I TR T 3T I7 @ | ST Al (o AT AR U of 7 | gl i<k 1 § 9 A<l o1 @ U6 2 H I
TR T 37 g e Ufxh 2 ° o5 =eaT %71 4@ Uik 1 § 9 Ahal il AT gl

R T H@ 3T AME 0l A g ST C % 972 A AL TITF 92 937 gl E 3T C F &= a7 AT 86 gl D &iX C

s T=T Tl g1 Q, T o 31 a1l 3T §oT g oTeha (ohel WI SfaH ¥ 9T A5l 957 gl A, B & T2 &%
THY TTF 92 997 g S &1 {E B &l AT 751 &l

Q20. Q F T A Fohaw =ARF A5 62
(a) =T

(b) =TT

() T=®

(d) i

OEIEGE

Q21. Maferfera 7 & favaanr @ € F Marcaw T=ifaai § 9 T #r A &2
(@Q

(b) P

()R

(d) S

() =W & FTE TE
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Q22. e o= & & =< uw Rf%ra ah% & awr § six safre us aqg a=ma §)| R daswwsy
g o G tea el 87

(@) Q
(b)S

(P
() E
(e)B

Q23. P ¥ wvia: Ruda s dsrg?
(a) B
(b)C

(9 E
(d)D

(e)%ﬂﬁ@fﬁ—%?ﬁ

Q24.SMRQF = Frar =fRF IS §?
(a) 1< 7ol

(b) IT AT HIE AT AT A

(=

(d) =

(e)%‘*ﬁﬁgﬁ%ﬁ

Directions (25-27): st sor e fRw 1w o= erssi o< st g, Rt et &t sregae fifog

A e v F saedfifsm
PACK WRAP BELL CAMP BULK

Q25. TTT FIX T THY A3 & T8 A& AT qTT FIX T TAY AT o (14X AT % 1= Tohaae sterx €2 (SEsh
FUHTAT J@AT % SATHT)

(a) 1

(b) T=

(o) =T

(d) =T

OEIEGE]

Q26. 913 RTTT AT T ITC Y ST FH | FA AT [HAT ATAT & 4T Foh F ersqahier & fi@ts o 8, ar Raferfea
H q -9 75 9T¢ BT F ST gRI?

(a) Camp

(b) Bulk

(c) Pack

(d) Wrap

() T7¥ & % LN
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Q27. AT R 1T TeAF 9151 H, TAF % 3 TG &I T FUSHT AVATAT @A 3 FTATT ST 319 Tl sTe
g g o ST, Y 59 TR a9 fhae et Uw e q gEgu R?

(a) &

(b) T

(c) =TT

(d) =

(e) =TH H TS gl

Directions (28-30): fraferfea STardt &t sarmgde steqas Hiforg sie = g 1w et & s o)

T ATHAT Tl AT TAT-3TT g C 3T B F 1o &l SAThAT T a9 g| Toraeht aoid 42 e 8, ag B 31
T gl A, F T T 3F1=F AT g1 A 31T C 3 19 ol U A 1<h &1 a9i9 gl D, E & AT 8 37 391 a9 F 7 30
TR a1t g1 E &7 a9 D § 4 et &9 g

Q28. FRwfarfera # & fiw frow gad 9t =af=r 82

(@C
(b) D

() E
(A
(e)B

Q29. fara = f<F F & W §?
(a)

(b) &

(c) =TT

(d) o=

(e) T

Q30. D, E 3T F & a9 &T 3T 47 §7?
(a) 122 foFerm
(b) 242 T
(c) 120 FFeTr T
(d) 142 FFerraTT
(e) 182 et
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Directions (31-35): e srarcfia sfaar it sarga® stegaer fifvrg six = R 177 w3 & S«
)

W3T8Y67P9X75K8LB47Z39K5L2M794ED91]JK5X71Z

Q31. T fra srer< § e S e 919 TeAm e 872
(a) TF
(b) =
(c) o=
(d) =T
(e) =E

Q32. 71 g ool farow Tt Y gt & A iR & & A9-a7 acd a1 S A arae aed & 978 ey 9w

BITT?
(a) 2
(b) L
()M
(d)8
(e) B

Q33. AT STATST TEATH & S g Teh A& ST &7
(@) =e

(b) =TT

(c) T

(d) =T

(e)=w

Q34. 39 HEATSH T I AT g ST qT¢ FIL F 741 A< 0 G & 57 82
(a) 8
(b) 9
(c) 12
(d) 11
(e) 15

Q35. THt Forat a9 geaTd § e St a1a U 9T i< S T8 Ueh STe7< ST 87
(a) TS 7=l

(b) i

()=

(d) A & At

(e) &1
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Directions (36-40): s wii ®, < gww<or 1 3i= 11 fow 17 81 st <91 G isheon it g1 F<AT &
e et el F sSqame ST R

Q36.

[.2x* +9x-45=0

IL.4y? + 19y +22=0

(@) TR x>y

(b)yafzx=y

(c)afTx <y

(d)yafzx<y

(e) T x = y AT Hael TATIOT AT (AT AT T &
Q37.

.5x* -6x-56=0

IL6y*+9y-42=0

(a)Ffe x>y

(b)a=x2y

(c) T x <y

(d)afex<y

(e) AT x = y AT Hael T Al FohAT ST Tl §
Q38.

L.x*-8x+15=0

ILy*-12y+36=0

(a)afe x>y

D) afex=zy

(c) Ffx <y

(d)afex<y

(€) TX x = y AT He Y TATIUT AT (ohAT AT Tl g

Q39.
Lx®-7x+12=0

L3y -11y+10=0 lm

@ x>y
(b)afa x>y ALL EXAMS,
ORI ONE SUBSCRIPTION.

(d)afex<y

(e) TR x = y AT Ha e TATIAT ol (hAT ST THhaAT & G)
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Q40.

Lx*-7vV3x+36=0
ILy*-11V3y+84=0

(@) TR x>y

(b)yafzx=y

(c)afTx <y

(d)yafzx<y

(€) AT x = y AT Hael T AG! (R AT ST TehaT g

Directions (41-45): F= < < JTEHT T STRT-TAT I ATHS A AT ATA AR (TR + AIRATE + 77) ]
AT ST TH I AT § ST AT TR, AIRAran e agy 1 wiaera st 81 et arfersr it exmga®
gfew sl = fag g st & S difST)

TN - ATTCTRT § g T AT & | ST F [ | i TUTAT 2 3hT STTAT 30T STt ¢, AT 30 T SAREST o e
I {30 T o7 T I <AT AT Bl

YR ATPe | wH I ufa=a
T Bt pa

e = aigam T
P 120 45% 40% 15%
Q 150 - 30% 20%
R 100 - 60% -
5 80 55% - -
T 200 50% - 10%

Q41. 713 SH ST ATt ATGATSH hl T TG&AT, T H ST AT TIUT it T G&AT & 10% HTEH g, AT P H S a1

QUL T T G&AT A S | ST AT ATRATSAT 0T T H&AT T AT AT DI
(a) 55:27
(b) 17:35
(c) 27:55
(d) 35:17

(e)%‘*ﬁ@fﬁﬂ@;

Q42. afx R STH a1t I it FoT HCAT, I AL AT R ST ATAT AIGATHAT ht FoT H&AT & 60% FA ¢, AT R
H ST 9T TR 1 ST A1 IS

(a) 16

(b) 24

(c) 18

(d) 20

(e) 12
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Q43. I S | I AT T it T G&AT, Q F ST ATA TGT T T GAT 6 TUAGAL G, AT S H ST AT TG ol T
AT ST T § ST a7 TG T T G&AT & 1= AL AT T

(a)5

(b) 8

(c)10

(d) 11

(e) 14

Q44. R & ST FTAT HIZATA T Tt AT, P H ST a1t TRUT ¥ FioT FEAT T it wfaera 82
11129
(@ 7

2

111 -9
O
(C) 1D1;%
1

@ 111-%
111 =%

(e) 11

Q45. Q H ST qTA YT il T A&AT, S T ST AT L& ot ot g7 & fvay wiqera sifesw ar w7 82

350
—0q

(a) 13

351]{|

(b) 11

450

@) ETRd
249

@

352
(e) 19

Directions (46-60): Rwrfrfea i & wr e (2) 3 @ = F=-a1 98 977 S ?

Q46. 360 DT 25% + 12.5 x4 =72 + 40
(a)9

(b) 8

(c) 10

(d)12

(e) 6

Q47. 324+ 72=1450 BT 40%
(a) 18

(b) 8

(c) 12

(d) 16

(e) 14
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2% + (8)% = 4000 BT 13%
Q48. °
(a)7
(b)8
(c) 14
(d) 28

(e)%ﬂﬁ@(qﬁéﬂ—@

Q49,72 X 6+ ¥512= 170

(a) 2
(b)3
(c) 4
(d)5
(e)1

= E_'J:z
Q50.412+14 7=5%04

5

(a) 2

1

(b) 2

@1
(d) 4

(e) 2

Q51. V900 FT40% — 421 + 350+272 = (?)?

(a) 17
(b) 19
(c) 18
(d) 16
(e) 15

Q52. 4% x 32° + 8% = (2)
()9
(b) 5
()7
(d) 6
(e)8
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Q53. 143 I 4 +26x12-200=7
(a) 58
(b) 64
(c)72
(d) 80
(e) 74

QSS.%SUEF[*H%— 1201 70% = 9-7

(a) 4.2
(b) 5.2
(c) 4.9
(d) 4.6
(e) 4.8

Q56. V841 +v1296 - V1024 =\7
(a) 1156

(b) 1089

(c) 1024

(d) 961

(e) 1225

Q57. 14400+ 36+15600 + 12 + 450=1800 + 7

(a) 410
(b) 330
(c) 390
(d) 350
() 370
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Q58. 7450 +5880 — 6890 =9000 -7

(a) 2560
(b) 2760
(c) 2460
(d) 2850
(e) 2480

Q59. 32X 25+ 44 X 18 + 348 + 6 =7

(a) 1550
(b) 1620
(c) 1650
(d) 1600
(e) 1690

Q60.V 1225 x 284 203 x 7 = (7)?
(a)47
(b)45
(c) 49
(d)51
(e) 53

Q61. TF AT it FATS, AT ATETS, & AT T SATATT HA: 9:5 Bl AT AT F1 qRATT 84 FHT &, AT S0t T
CEREEIRENIEIY

(a) 405 THE

(b) 415

() 425 THP?

(d) 435 THI

(o) 445 THP

Q62. TS 7 STIT AT it TET 9T 5000 T, HISTH X 10000 FTTT GH FHT 3 FoT T T AT 40% IT6 9
TS F T A AT T i Fraft of?

(a) 25000 =T

(b) 20000 &

(c) 22000 &9

(d) 18000 &7

(e) 35000 =T

15 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q63. TF 1 90 fFfy /=ier it =ter & 12 Wi # uw AfEa T av Fxft 81 Sa 59 F siraa = st1a g, s
T 9 7 27 4 240 FFfy sfes @ qr w2

(a) 120 ey /=er

(b) 110 foFHT/=eT

(c) 210 et /=T

(d) 140 FhHT/=eT

(e) 125 TohHT/=eT

Q64. FAATT H P FY o, Q F oY i i AT § i< ai=r a9 A1 P it 30, Q <t 31 it IR(AT BT AT 10
Y T2 P it oI AT gRA1?

(a) 20 F

(b) 25 a9

(c) 22aF

(d) 353

(e) 30 a

Q65. Tg ASTHAT TH FHTH &1 5 AAT H T FT Tl &, STl 10 FTEH T SHT 1 HI T HLA A 4 = 70
g1 3 AsTHAT 3T 6 T= e IHT H1H &t o faAl § QAL ARA 872

(a) 4 fa=r

(b) 5 fa=

(c)6fa=

(d) 7 fe=

(e)8few

Q66. TS TH q& 1600 TI § 94T T IH 20% it T 21 30% T AT TTH HLA o [org I& I T& &l
ENEIEGREE R E

(a) 2000 =X

(b) 1800 =X

(c) 2600 =X

(d) 2500 =%

(e) 3500 =T
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Q67. 6 FHNIT G HEATA T AT 13 g1 STH & T TET Sl A9 FIET ACATSH T TUAHA FIT &7
(a) 144

(b) 162

(c) 126

(d) 90

(e) 108

Q68. fardt arafer a% 3 a & T H 20% ATITF T & sTTq Fergia sATST 5824 T g1 &=<riey Fovat 82
(a) 8000 &7

(b) 9000 =T

(c) 7500 =TF

(d) 10000 =7

(e) 15000 &9

Q69. T ST qTT & 80 e AT F 20% TTHT g1 FA=T & qTT 50% F % Forg Framr aret fRermeT g e?
(a) 48 Tex
(b) 58 #fex
(c) 40 &fex
(d) 42 ez
() 45 =teT

Q70. A, B3R CH & TAF A [Aa<T & SAqUTA H STq AT & ATH ATH A & O GgAq g1 AR A TH AW
% fRrT 20000 T F71 A9 FIGT §, B S8 WalA & g 25000 T3 ST fA29r F:3aT g 3% C 3e wg & oy
30000 TI3 FT AT FLIAT g, T FHA: A i< B F AT T {01 ATT IS A< TH a9 & i § 1 ATH 42000
T gl

(a) 16000 ¥4 3T 10000 =TT

(b) 26000 & 3f¥ 10000 FT

(c) 12000 ¥ 3T 14000 &9

(d) 18000 &7 3T 8000 €T

(€) 9000 ¥ ¥ 20000 FT

Directions (71-80): Read the given passage carefully and answer the following questions.
Certain parts have been highlighted to help answer the questions.

Over the last year, the World Health Organization (WHO) has been busy, in an effort, to
calculate the global death toll from COVID-19. This effort, however, has India’s health establishment up
in arms. Globally from an estimated six million reported deaths, WHO now estimates these deaths to
be closer to almost triple the number. India, deeply affected by successive COVID-19 waves, is not
delighted with this revision.
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Several news reports have pointed at a significant gap in India’s COVID-19 story — significantly under-
reported mortality figures. The unreleased WHO estimates have been prepared by leading global
experts but have left India’s health establishment perturbed, with its strong objections to these
estimates. Why? Because as in these figures, India would have had close to four times the COVID-19
deaths reported - a figure that varies highly from India’s previously self-reported figures. This would
make India’s tally of COVID-19 deaths amongst the highest globally. Not surprisingly, India is in serious
disagreement with the WHO-prepared COVID-19 mortality estimates. In fact, its continued objections
have been holding back the Global WHO Report. The argument being made by India’s health
establishment through a public clarification is that this is an overestimation, and the methodology
employed is incorrect.

The new estimates also take into account formerly uncounted deaths, but also deaths resulting from the
impact of COVID-19. For example, millions who could not access care, i.e., diagnosis or treatment due
to COVID-19 restrictions or from COVID-19 cases overwhelming health services. The methodology for
this estimation, led by global experts, is unlikely to be faulty. India’s disagreements with the
methodology can be easily addressed through consultation.

Q71. According to the passage, what does WHO'’s revised estimate of global death toll from Covid-
19 entail?

(a) Proper and timely vaccination is necessary to prevent more deaths from Covid-19

(b) India had an insignificant number of deaths from Covid-19

(c) The global death toll from Covid-19 is approximately eighteen million

(d) In India, the main cause of deaths was lack of proper medical access

(e) None of these

Q72. Which of the following is/are the inference(s) from WHO’s estimate of India’s Covid-19
death toll?

(a) Fast vaccination drive in India has saved many lives from Covid-19

(b) India is one of the nations having the highest number of Covid-19 death rate

(c) India could have saved many lives if the medical structure was robust

(d) All of these

(e) None of these

Q73. What is India’s response to WHO after the revision of the death toll?

(a) In its counteraction, India denied the Global WHO report

(b) India contends that WHO has exaggerated the Covid death toll

(c) India does not accede to WHO'’s claim and says that the report is based on erroneous techniques
(d) All of these

(e) None of these

Q74. What is the variation in the WHO new estimate of Covid-19 death in India?

(a) The latest estimate is also considering deaths which are the results of Covid-19 impacts
(b) WHO has appointed new members of a panel to assess Covid-19 death toll

(c) This time WHO is taking into account those deaths which are only from Covid-19

(d) WHO has impeded powerful countries from interfering in death estimation

(e) None of these
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Q75. Which of the following statements is/are NOT TRUE as per the passage?

(i) Author is doubtful about the global experts led methodology’s reliability

(ii) India agrees with the new methodology to estimate Covid-19 deaths

(iii) According to news reports, there is a huge increase in the number of deaths due to Covid-19 in India
(a) Both (i) & (ii)

(b) Both (ii) & (iii)

(c) Only (i)

(d) Only (ii)

(e) All of these

Q76. Which of the following words depicts the meaning of idiom ‘up in arms’ given in the passage?
(a) Diligent

(b) Rebellious

(c) Harmonious

(d) Annoyed

(e) None of these

Q77. Which of the following words is an antonym of ‘perturbed’ given in the passage?
(a) inflate

(b) devise

(c) calm

(d) laggard

(e) None of these

Q78. Which of the following words is the most suitable for the given blank in the passage?
(a) prevalence

(b) instances

(c) unprecedented

(d) inexorable

(e) None of these

Q79. Which of the following words is a synonym of ‘diagnosis’ given in the passage?
(a) verdict

(b) halt

(c) deadlock

(d) oppose

(e) None of these

Q80. Which of the following words is an antonym of ‘global’ given in the passage?
(a) generic

(b) universal

(c) common

(d) local

(e) None of these
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Directions (81-83): Rearrange the following sentences in a meaningful paragraph and answer
the following questions.

(A) Unsafe water Kkills more people each year than war and all other forms of violence combined.

(B) Without action, the challenges will only increase by 2050, when global demand for freshwater is
expected to be one-third greater than it is now.

(C) The widespread problem of water pollution is jeopardizing our health.

(D) Meanwhile, our freshwater water sources are also finite.

(E) Less than 1 percent of the earth’s freshwater is actually accessible to us.

Q81. Which of the following should be the FIRST sentence after rearrangement?
(a)A
(b) C
(oD
(d)B
(e) E

Q82. Which of the following should be the SECOND sentence after rearrangement?
(@ E
(b)D
(@C
(d)B
(e)A

Q83. Which of the following should be the THIRD sentence after rearrangement?
(a) E
(b) B
(D
(d) A
(e)C

Directions (84-88): In every sentence a word is omitted and with respect to that, five options are
given. Choose the correct word from the given options that can fit into the given blank without
altering the meaning.

Q84. Every afternoon, the teacher has to the desks that her students have pushed
out of place.

(a) afar

(b) splay

(c) align

(d) lament

(e) abaft
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Q85. Normally, people do not view police officers as people, but Officer Jones was
very nice.

(a) affable

(b) conspicuous

(c) cunning

(d) picky

(e) collegial

Q86. The financial is designed to make it possible for low-income students
to attend college.

(a) mutability

(b) acclimation

(c) buffer

(d) stimulus

(e) suggestion

Q87. Unpacking all these boxes is going to require a great deal of
(a) leniency

(b) reluctance

(c) assiduity

(d) scrupulosity

(e) tenacity

Q88. According to the news, we will have a thunderstorm in the of our
neighborhood within a couple of hours.

(a) vicinity

(b) vault

(c) span

(d) gateway

(e) venue

Directions (89-92): Read each sentence to find out whether there is any grammatical or
idiomatic error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error the answer is ‘No Error’. (Ignore errors of punctuation, if

any.)

Q89. Mobile phones ping signals to nearby (A)/ communications towers, allowing both
(B)/UKkrainian or Russian soldiers to track (C)/ the movement of opposition forces (D)/ No Error
(@D

(b) B

(c) No Error

(d) A

(e)C
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Q90. Chief Minister said that (A)/government would provide (B)/piped drinking water to
(C)/every households in the state (D)/ No Error (E).

(a) No Error

(b) B

(c)A

(d)C

(e)D

Q91. Evidence suggests that children who (A)/ engage in early and play-based (B)/ learning
activities have better developmental (C)/ outcomes than those who doesn’t (D)/No Error (E)
(@A

(b) B

(@cC

(d)D

(e) No Error

Q92. The opposition party said that (A)/ neither the army or a (B) /foreign country can safeguard
(C)/ the country’s democracy (D)/ No Error (E)

(@A

(b) No Error

(0D

(d)B

(e)C

Directions (93-95): In each of the questions given below four words are given in bold. These four
words may or may not be in their correct position. The sentence is then followed by options with
the correct combination of words that should interchange with each other in order to make the
sentence grammatically and contextually correct. Find the correct combination of the words that
replace each other. If the sentence is correct as it is then select ‘no interchange required’ as your
choice.

Q93. During the disaster, (A)price raising (B)was imposed to stop stores from control (C)the costs of
water and bread (D)too high.

(a) Only (C)-(D)

(b) Only (A)-(C) and (B)-(D)

(c) Only (B)-(C)

(d) Only (A)-(D) and (B)-(C)

(e) No interchange required

Q94. Not only in trade liberalization (A)but in every other aspect of globalization (B)even seemingly
(C)well-intentioned efforts have often backfired (D).

(a) Only (C)-(D)

(b) Only (A)-(C) and (B)-(D)

(c) Only (B)-(C)

(d) Only (A)-(D) and (B)-(C)

(e) No rearrangement needed

22 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q95. After a long pause, again (A)fuel prices have been inching (B)up over the past week and have
crossed (C)the X100 liter-mark retail (D)in several parts of the country, while LPG cylinder prices have
been hiked by X50.

(a) Only (C)-(D)

(b) Only (A)-(C) and (B)-(D)

(c) Only (B)-(C)

(d) Only (A)-(D)

(e) No interchange required

Directions (96-98): Each question is divided into four parts, which are not meaningfully
arranged. Choose the correct sequence from the given options, that can form a grammatically
and contextually correct sentence.

Q96. children in general, and little children in particular(A)/ and the extremely transmissive
Omicron variant has shown that unlike adults, (B)/ do not suffer from severe disease(C)/
evidence from across the world after the deadly Delta variant (D)

(a) DBAC

(b) BCAD

(c) DACB

(d) CBAD

(e) ABCD

Q97. a public-private partnership (PPP) model(A)/ privatizations of airports in India first began
(B)/ a proposal to upgrade Mumbai and Delhi in(C)/ in 2003 after the government approved(D)
(a) DBAC
(b) BCAD
(c) DACB
(d) BDCA
(e) ABCD

Q98. when BBC America’s Killing (A)/Eve aired its first season, it (B) /quickly cemented itself as
a favorite (C)/ of both critics and the masses (D)

(a) DBAC

(b) BCAD

(c) DACB

(d) BDCA

(e) ABCD

Directions (99-100): In each question, a word is given and corresponding to that word three
sentences are provided. Choose the correct combination of the sentences from the given options
that has the correct usage of the word.
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Q99. Staunch

(A) Since the two countries are staunch allies, it is not surprising they will work together in the war to
defeat their shared enemy.

(B) I don’t mean to come across as a staunch person, but I am certain I am correct on this issue!

(C) The union has shown a staunch commitment to providing industrial workers with decent salaries
and medical insurance.

(a) Only (A)

(b) Only (B)

(c) Only (A) and (C)

(d) only (B) and (C)

(e) All (A), (B) and (C)

Q100. Bellicose

(A) His bellicose behavior at the party ensured that he would not be invited again

(B) After the ten years of a bad relationship between the step-mother and step-daughter, they finally
put their differences aside and had a bellicose time together.

(C) Strange how such bellicose moment could be stirred up by emotional turmoil.

(a) Only (A)

(b) Only (B)

(c) Only (C)

(d) Only (A) and (C)

(e) All are correct

ALL EXAMS,
ONE SUBSCRIPTION.
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$1. Ans.(b)
Sol.

S
Q
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p; ||: w
T

S$2. Ans.(d)
Sol.

S
Q
U R
p; ||: w
T

S3. Ans.(c)
Sol.

S
Q
U R
p; :: w
T
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Sol.
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Sol.
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$8. Ans.(d)
Sol.

S9. Ans.(c)
Sol.
QDFK

X X

ERL G
+1 +1 +1 +1

$10. Ans.(a)
Sol.

Uq

MD

GM

DGM

AGM

PEGED

PO

0A

2R ] U"ﬂmm:b%

S$11. Ans.(d)
Sol.

Ug

MD

GM

DGM

AGM

PECED

PO

Mmoo U"ﬂmmﬂ-*%

0A

$12. Ans.(d)
Sol.

g

MD

GM

DGM

AGM

PO

=3l N ] U’TJDUC?IFJ%

0A
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$13. Ans.(c)
Sol.

Ua
MD

GM
DGM
AGM

IEHED

PO

0A

0 Uﬂmmp%

S14. Ans.(a)
Sol.

Ua
MD

GM
DGM
AGM

LELED

PO
0A

=l Uﬂmmp%

S15. Ans.(b)
Sol.

I: Rz K (3{Hd)
I: D<M (Hd)

$16. Ans.(a)
Sol.

I: L <M (Hd)
II: H = ] (3Td)

$17. Ans.(b)
Sol.

A(-)=V(+) T

W() =X(+)—Y()=Q(+)

R(-)
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$18. Ans.(c)
Sol.
A(-)=V(+) T

W) =X(+)—Y(-)=Q(+)

R(-)
$19. Ans.(d)
Sol.
A()==V(+) T

W) =X(+#)—Y(-)=Q(+)

R(-)

$20. Ans.(d)

Sol.

S R T QP
|

:

1+ -
E D A CB

S$21. Ans.(b)

Sol.

S R T QP
———— =
—— 1+ &2
E D A C B

$22. Ans.(a)

Sol.

S R T QP
——1— dfa
e

E D A CB
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$23. Ans.(c)

Sol.

S R T QP
———1
1 e
E D A CB

S$24. Ans.(e)

Sol.

S R T QP
——1— i
——t+—++ e

E D A C B

$25. Ans.(b)
Sol. C 3T A % &= haol U T&< g

$26. Ans.(a)

Sol.
WRAP PACK CAMP EBULK BELL

$27. Ans.(d)
Sol.

PACK WEAP BELL CAMP BULEK
0OACK VRAP AELL BAMP AULK

$28. Ans.(c)

5ol P2 A > ¢ > E(68 fHaMM™) > A > B > F42 flaam

$29. Ans.(d)

5ol P72 ) > ¢ > E(e8 fTHaA™) > A > B> Fa2 flaam)

$30. Ans.(e)

5ol P72 ) > ¢ > E(e8 fTHaA™) > A > B> Fa2 flaam)

S$31. Ans.(c)
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S32. Ans.(b)
$33. Ans.(d)
S34. Ans.(b)
$35. Ans.(e)

$36. Ans.(e)
Sol.
.2x2+9x-45=0
2x% - 6x+ 15x-45=0
2x(x-3)+15(x-3)=0
(2x+15) (x-3)=0
x=-15/2,3
=-7.5,3
L. 4:}12+ 19y +22=0
4}12+8}?+ 11y +22=0
dy(y+2) + 11(y+2)=0
(4y +11) (y+2) =0
y=-11/4,-2
=-2.75,-2
Hejy wifig 1¢ forar o gaar g |

S37. Ans.(e)

Sol.

L 5x2-6x-56=0
5x% -20x + 14x - 56 =0
bx(x-4)+ 14 (x-4)=0
(5x+14) (x-4)=0
x=-14/5 4

=-2.8,4

L 6y?+9y-42=0
6y2-12y + 21y -42=0
6y(y-2)+21(y-2)=0
(6y+21) (y-2)=0
y=-21/6,2

=-3.5,2

ey @ity et fopar o e 2|
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$38. Ans.(c)

Sol.

L x2-8x+15=0
x?-5x-3x+15=0
x(x-5)-3(x-5)=0
(x-5)(x-3)=0
x=253

IL y?-12y+36=0
y2 -6y -6y+36=0
y(y-6)-6(y-6)=0
(y-6)(y-6)=0
y=6,6

X<y

$39. Ans.(a)

Sol.

I. x2-Tx+12=0
x?-4x-3x+12=0
x(x-4)-3(x-4)=0
(x-4)(x-3)=0
x=3,4

. 3y’-11y+10=0
3y*-6y-5y+10=0
3y(y-2)-5(y-2)=0
(By-5)(y-2)=0
y=2,5/3

X>y

S40. Ans.(d)
Sol.
L x?-7V3x+36=0
x2-4y3x-3V3x+36=0
x(x-4v3)-3v3 (x-4v3)=0
(x-3v3) (x-4v3) =0
X =33, 443
. y?-11V3y+84=0
y2-4V3y-7V3y+84=0
y (v - 4V3) - 7V3 (y - 4V/3) = 0
(y-7v3) (y-4v3)=0-
y=743,4v3
X<y
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S$41. Ans.(c)
Sol.

Sﬁaﬁaﬁﬁﬂ%maﬁﬁm ue (200 x%) =110

Sy ST = 1zn>< : 110
=27:55

S42. Ans.(a)
Sol.
R & 9 arcit Afgarst & od 98T = 100 x — = 60

100

RH O ad 9= @ ©d TE&T =60 x “22% — 94

100

3, R § O dTcd Yol &1 el &1 = 100 - (60 + 24) = 16

S$43. Ans.(c)
Sol.

S H O ardl 9= &1 $d =T =150 X — = 30

lﬂﬂ

TH o el 9= &1 $d GEHl =200 xm— 20
3P 3fdR =30 — 20 = 10

S$44. Ans.(d)
Sol.

anfty fderd - 00 ¥ 100

60 100 11119”
= — ¥ = —
54 9"

$45. Ans.(b)
Sol.

Q ¥ ST a7 g=di &I Hd T&AT = 150 X — = 30

lDU

S H S a1t GRSl Bl Hof TEAT = 80 x = = 44

00
sty i = =22 x 100
14 350

=—x 100 =—79
44 T

$46. Ans.(c)
Sol.
25
— % 360+ 50=72+40
100

72=140- 40
7=10
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S47. Ans.(d)
Sol.

324+ 72 = % 1450
100

22 =256

7=16

$48. Ans.(a)
Sol.

% 4512 =2 % 4000
5?6 100
% - 520-512

7

?7=7

$49. Ans.(b)
Sol.
MwpHp+8=170
MPx6=162

72 =27

?7=3

S50. Ans.(e)
Sol.

S51. Ans.(a)
Sol.

V360 — 421 + 350 + 272 =(?)?
?=4/289=17

S52. Ans.(c)

Sol.

27 — {2}6 w (25)2 2 99
27 =27

=7

S53. Ans.(b)

Sol.
7=572+26x12-200
? =64
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S$54. Ans.(e)
Sol.
1

?:ﬁ+4—ﬂ+(;—ﬂ

—5+(3_2)—51
B 6 / "6

S$55. Ans.(e)
Sol.

180 PT149% - 120 DI 70%=9 -7
88.2 —84 =9-7
7=438

S$56. Ans.(b)

Sol.

V841 +4/1296 - 1024 =7
29+36 -32=47

V7=33

7=(33)2

=1089

$57. Ans.(d)
Sol.
14400+ 36+15600 + 12 + 450 =1800+7
400+1300+450=1800+7?
2150=1800 +?
7=2150-1800
=350

$58. Ans.(a)

Sol.

7450 +5880 — 6890 =9000- 7
7=9000 -6440

=2560

$59. Ans.(c)
Sol.
32x 254+ 44 x 18+ 348+ 6=7
?=800+792+58
=1650
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$60. Ans.(c)
Sol.
V1225 x 28 + 203 x 7 = (7)?
(7)2=35x% 28 4+ 203 x 7
=080+1421
=2401
7 =\2401

=49

S$61. Ans.(a)

Sol.

HHET, T B daTs 3R II8s PH: 9x 3R 5x B,

dl, 2(ciers + 9ISTs) = uRA™

2(9x+5x) = 84

14x = 42

AT x=3

It damE = 9x = 27 AT R TS = 5x = 15 AT

3k, U P &A% d = ddls * disls = 27+15 = 405 YA

$62. Ans.(a)
Sol.

A Hd AR = 100%

60% = (5000+10000) = 15000

1% =15000/60

T TR 100% = 22 % 100 = 25000 TTY

&0

$63. Ans.(b)

Sol.

ST GRI TG @1 T3 g3l = I1d x THT = 90 x 12 = 1080 fobdt
a1, 9 gRT aa @1 718 gdf = 1080 + 240 = 1320 Tt

erlﬁ:,aﬂaﬂa{'-tﬁgaﬁﬂaam:%=@ 110 f&t rger

12

S$64. Ans.(b)

Sol.

AT e P 3R Q @ TaH 31 HHT: 3x AR x B,

5 gy |TE, P @ 3 = 3x+5 AR QP 3AMY = x+5 8

379, TR

(3x+5) = 2(x+5)

3X+5 =2x+ 10

dl,x=10-5=5

A, 100G FAGPBI M = 3x + 10 = 15 + 10 = 25TH
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$65. Ans.(a)
Sol.

6 Tsiddl U @1 &1 5 &l § [ o gand! 8

a1 ds®! 3 & @i 5%6 = 30 el H Q@ aedl ©

S, 10 a8 4 e H o W ad €,

a1 ds®I S & & 4+10 = 40 fedf H @ dar @
3d, TA B = 120 3PS (30 3 40 HTTH)

dl, TS®! B &l = 120/30 = 4 3P/

3R TS® DI &l = 120/40 = 3 SHI/fT

3, 3 TSfPUI SR 6 TSP AR UG A H eI W add T =
3*4 + 6*3 =12 + 18 = 30

AT, B B R B | 3 Tsihdl 3R 6 TSH! B GHT T
120 /30 = 4 &9

oo fafu

AATASHI = b, dSHI = g
TSd AR TASH! DI G&fdT & U

=6gx5b=10bx 4
_a_43

=%3mzamﬁ5%W%m1ﬂasﬁﬁ4%@ﬁ%
=6x4x5=120 or10 x 3 x 4 =120
= 3 TSfaal 3R 6 T3] gRI B R B3 | feran mar g4

120 —E=4ﬁ:[

T 3Ix4+6%3

$66. Ans.(c)
Sol.

AT 9% &1 549 Jed 100X §

dl, 20% 81 & 16, 9% &1 fasd g = 100x - 100x BT 20% = 80x
3R Tg fear g

80x = 1600

dl x = 20

3, I &1 6T T = 2000

30% TMYH & 915,

9% &1 9564 Hed = 2000 + 2000 &I 30% = 2000+ 600 = 2600 TGY
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S$67. Ans.(a)

Sol.

AHT {5 6 HANTT GH GBIW T, (3, a+2, a+4, a+6, a+8, a+10)
i, 3 = 13

dl, 6 AT TH ST &1 AT = 1376 =78

?—ﬁ,a+ a+2 +a+d +a+6+a+8+a+10=78
6a+30=78

6a=78-30=48

dl,a=48/6=8

4o, 39 S=a § Tad 9] 99 937 = a+ 10 = 18
ARG BT T =a =8

3{a:, 3P UFEd = 18+ 8 = 144

$68. Ans.(a)
Sol.

g1, fean T 9 afS e = 5824 ¥, T= 3 T¥ SRR = 20%
AT G = 100
Usd a8 & oIl = 20%

G G @1 ST = 20%+4% = 24%
JTay 9o &1 TS = 20% + 4% + 4.8% = 28.8%

P Al = 20% +24% + 28.8% = 72.8%

72.804 = 5824
5824
oy = 2822
1% P

100% :% % 100 = 8000 = 8,000 I

$69. Ans.(a)
Sol.

forsyor = o1 1 AT = 80 x — = 16 TR
forsyor o @1 1T = 80 x - = 64 TlicX

A, x e 9t e T g,
ZHiem,
16+x 1
64 1
16 + x = 64
x=64—16
=48

31, Tergor & urt 50% 9 & orw 48 e g e S g
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$70. Ans.(a)
Sol

A,.Baﬁ?caiﬁémaﬂaqcm%

20000 x 12:25000 % 6:30000x 8 = 8:5:8
dfes, T AT = 42000 TG
al. A & ATH BT 5581 = 42000 f—l = 16000 39T

3 B & oY &1 e = 42n{m><i= 10000 UL

$71. Ans.(c)
Sol. Refer to the first paragraph which mentions, “Globally from an estimated six million reported
deaths, WHO now estimates these deaths to be closer to almost triple the number.”

S$72. Ans.(b)

Sol. Refer to the second paragraph which mentions, “Because as in these figures, India would have had
close to four times the COVID-19 deaths reported-a figure that varies highly from India’s previously
self-reported figures. This would make India’s tally of COVID-19 deaths amongst the highest globally.”

$73. Ans.(d)

Sol. To validate the answer, refer to the second paragraph which mentions, “In fact, its continued
objections have been holding back the Global WHO Report. The argument being made by India’s health
establishment through a public clarification is that this is an overestimation, and the methodology
employed is incorrect.”

S$74. Ans.(a)
Sol. To validate the answer, refer to the last paragraph which mentions, “The new estimates also take
into account formerly uncounted deaths, but also deaths resulting from the impact of COVID-19.”

$75. Ans.(a)

Sol. Only statement (iii) is true as per the passage.

For statement (i), refer to the lines, “The methodology for this estimation, led by global experts, is
unlikely to be faulty.”

For statement (ii), refer to the lines, “India’s disagreements with the methodology can be easily
addressed through consultation.”

For statement (iii), refer to the lines, “Several news reports have pointed at a significant gap in India’s
COVID-19 story — significantly under-reported mortality figures.”

$76. Ans.(b)

Sol. ‘Up in arms’ means ‘protesting vigorously about something’ therefore ‘rebellious’ is the word
having similar meaning.

Diligent means having or showing care and conscientiousness in one's work or duties.

Rebellious means showing a desire to resist authority, control, or convention.

Harmonious means free from disagreement or dissent.

Annoyed means slightly angry; irritated.
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$77. Ans.(c)

Sol. ‘Calm’ is an antonym of ‘perturbed’.

Perturbed means feeling anxiety or concern; unsettled.

Calm means not showing or feeling nervousness, anger, or other strong emotions.

Inflate means increase (something) by a large or excessive amount.

Devise means plan or invent (a complex procedure, system, or mechanism) by careful thought.
Laggard means a person who makes slow progress and falls behind others.

$78. Ans.(c)

Sol. To make sentence grammatically correct and contextually meaningful the correct word is
‘unprecedented’

“prevalence” means the fact or condition of being prevalent; commonness.

“instances” means an example or single occurrence of something.

“unprecedented” means never done or known before.

“inexorable” means impossible to stop or prevent.

$79. Ans.(a)

Sol. ‘verdict’ is the synonym of “diagnosis”.

Diagnosis- a position arrived at after consideration

(a) Verdict: A verdict refers to the decision or judgment made by a jury or judge in a legal case.

(b) Halt: Halt means to come to a stop or cease movement or activity.

(c) Deadlock: Deadlock refers to a state of impasse or stalemate in which progress or resolution
becomes impossible due to opposing forces or conflicting interests.

(d) Oppose: To oppose means to express disagreement or resistance to something or someone.

$80. Ans.(d)

Sol. ‘local’ is the synonym of “global”.

Global - belonging or relating to the whole

(a) Generic: Generic refers to something that is general, common, or not specific to any particular
individual or group.

(b) Universal: Universal means applicable or common to all or most people, things, or situations.

(c) Common: Common refers to something that is widely or generally known, seen, or experienced.

(d) Local: Local pertains to a specific area, region, or locality.

$81. Ans.(b)

Sol. The passage given above discusses water pollution. Here, apart from statement (C), none of the
given statements is independent and will therefore be the first statement in the logical sequence that
begins the paragraph and states the theme which is water pollution. Further, statement (A) will follow
statement (C) which continues the paragraph by stating consequences of water pollution. The word
‘meanwhile’ indicates that sentence (D) will follow statement (A) and gives information about the
limited fresh water resources. Further, statement (E) will be the appropriate statement to follow (D) as
it states the percentage of fresh water available. Statement (B) will be the last sentence of the passage.
Therefore, the correct sequence of the statements will be CADEB
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$82. Ans.(e)

Sol. The passage given above discusses water pollution. Here, apart from statement (C), none of the
given statements is independent and will therefore be the first statement in the logical sequence that
begins the paragraph and states the theme which is water pollution. Further, statement (A) will follow
statement (C) which continues the paragraph by stating consequences of water pollution. The word
‘meanwhile’ indicates that sentence (D) will follow statement (A) and gives information about the
limited fresh water resources. Further, statement (E) will be the appropriate statement to follow (D) as
it states the percentage of fresh water available. Statement (B) will be the last sentence of the passage.
Therefore, the correct sequence of the statements will be CADEB.

$83. Ans.(c)

Sol. The passage given above discusses water pollution. Here, apart from statement (C), none of the
given statements is independent and will therefore be the first statement in the logical sequence that
begins the paragraph and states the theme which is water pollution. Further, statement (A) will follow
statement (C) which continues the paragraph by stating consequences of water pollution. The word
‘meanwhile’ indicates that sentence (D) will follow statement (A) and gives information about the
limited fresh water resources. Further, statement (E) will be the appropriate statement to follow (D) as
it states the percentage of fresh water available. Statement (B) will be the last sentence of the passage.
Therefore, the correct sequence of the statements will be CADEB

$84. Ans.(c)

Sol. The word best suited for the given blank is “align”.

Afar: at or to a distance.

Splay: thrust or spread (things, especially limbs or fingers) out and apart
Align: line up; straighten

Lament: a passionate expression of grief or sorrow.

Abaft: in or behind the stern of a ship.

$85. Ans.(a)

Sol. The word best suited for the given blank is “affable”.

Affable: friendly, good-natured, or easy to talk to

Conspicuous: clearly visible.

Cunning: having or showing skill in achieving one's ends by deceit or evasion.

Picky: fussy and hard to pleas

Collegial: relating to or involving shared responsibility, as among a group of colleagues

$86. Ans.(d)

Sol. The word best suited for the given blank is “stimulus”

Mutability: the ability to move or be moved freely and easily.

Acclimation: the process or result of becoming accustomed to a new climate or to new conditions.
Buffer: lessen or moderate the impact of (something).

Stimulus: anything that triggers a change

Suggestion: an idea or plan put forward for consideration
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$87. Ans.(e)

Sol. The word best suited for the given blank is “tenacity”

Leniency: the fact or quality of being more merciful or tolerant than expected; clemency.
Reluctance: unwillingness or disinclination to do something.

Assiduity: showing great care and perseverance.

Scrupulosity: pathological guilt/anxiety about moral or religious issues

Tenacity: the quality of being determined to do or achieve something

$88. Ans.(a)

Sol. The word best suited for the given blank is “vicinity”

Vicinity: nearby area

Vault: a large room or chamber used for storage, especially an underground one
Span: an extent, stretch, reach, or spread between two limits

Gateway: an opening that can be closed by a gate.

Venue: the place where something happens

$89. Ans.(e)
Sol. The error lies in part (C). Here ‘or’ should be replaced by ‘and’ because as a conjunction, 'both’
should only be used with 'and’.

$90. Ans.(e)
Sol. The error lies in part (D). Here ‘households’ should be in singular form because each/every is
always used with a singular noun form.

S91. Ans.(d)
Sol. The error lies in part (D). Here ‘doesn’t’ should be replaced with ‘don’t’ because it modifies noun
‘children’ which is plural.

$92. Ans.(d)
Sol. The error lies in part (B). Here ‘or’ should be replaced with ‘nor’ because we use ‘neither’ as a
conjunction with ‘nor’.

$93. Ans.(c)

Sol. The interchange that is needed to make the sentence grammatically and contextually correct is
option (B)-(C). Hence the sentence will be “During the disaster, price control was imposed to stop
stores from raising the costs of water and bread too high.”

S$94. Ans.(e)
Sol. All the words are correctly arranged in the sentence.

$95. Ans.(d)

Sol. The interchange that is needed to make the sentence grammatically and contextually correct is
option (A)-(D). Hence the sentence will be “After a long pause, retail fuel prices have been inching up
over the past week and have crossed the X100 liter-mark again in several parts of the country, while
LPG cylinder prices have been hiked by X50”.
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$96. Ans.(a)

Sol. The correct rearrangement that is needed to make the sentence grammatically and contextually
correct is DBAC. Thus, the sentence will be “Evidence from across the world after the deadly Delta
variant and the extremely transmissive Omicron variant has shown that unlike adults, children in
general, and little children in particular, do not suffer from severe disease.”

S97. Ans.(d)

Sol. The correct rearrangement that is needed to make the sentence grammatically and contextually
correct is BDCA. Thus, the sentence will be, “Privatizations of airports in India first began in 2003 after
the government approved a proposal to upgrade Mumbai and Delhi in a public-private partnership
(PPP) model.”

$98. Ans.(e)
Sol. The sentence is already correctly arranged and thus need no rearrangement.

$99. Ans.(c)
Sol. Staunch means loyal, trustworthy, reliable, outstanding. Thus, the sentences that have the correct
meaning of the given word are, option (A) and (C).

$100. Ans.(d)
Sol. “bellicose” means “demonstrating aggression and willingness to fight; eager for war”.
Thus, the sentences that have the correct usage of the given word are (A) and (C).

ALL EXAMS,
ONE SUBSCRIPTION.

240]O
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